Q29%E RIS 2 xlsx

rEs | mE |(mmER| o royas | g W B
m FE |[tzsecam| (EER4 TR 29F EVERR
1 RAEBEOHME
REFBA 2N T W BN O #F B O &
#EH @ KGO * & £ B B O S OR ROR R m &
H 300 2 (58] 60 AR)T U545 5 X [a] 300
pui #ix 4 (58] 4 A #WCS[a] 100
14 Bl WE - B4 [EE] 16 fEhoINE L] 250
Hih
(5B MEER)
1E B m & 1 2 3 4 5 6 7 10 11 12
T |BE 60ZE
#h | ABIVTUSATSR 300a ©
Fl [ 250a
B |1%wecs 100a o
1%
E
S |O #BiE x EHE In & O fAEEmE
2 BREH
BEMNWEH O & ®
T, FIA 7K B 200afg Hh mofE RILABA R
FEHF A BRFEH2A FEEHE B, fRHoINE
B TR AR I)—N—=2-ZUF T IR—5—F=
HiEDF (b
BR5EA &




Q29%ETIFL 2 xlsx

3 BEIRX (BREA1EENEY) _ 8 BE BB JY—=N=2-SF T I8=5
18 B & %8 g H E B (7) % IR &% O & H
(A fRIREE 983.718|E%(7) EIEVMIIERERERASENEEEH2~26F 1 A BRFEE B iy FRUN A A BR5EE B I
EEE 1~128 8,955  104.80 938,484
FHE 397,817|H5&K (A1) FF 1 39,311 39,311 0
TERELEE 25731[EF«(2) =S8 1 5,923 5,923 0
E | B (BAXBEE 32,415|HXR(T) 0
EMHE 845| R A M B EME EBEH22~ 26 1) &it 8,955 110 983,718
BHE 8,631 | EEAERHTEMEETH22~26FH (O EE B E [ EmM|] £ & CES
* | B (B 093 | EEHERMHEEYEEEH22~26 1Y Al 1]397.817]  397817] s s - e gtz ey i
& [2hkE 10,805| & FB{EIZ D 1% & 0 & #1120~ 26T b9
# (KERE 28,547 | B11B{f#& D5% o™= 5
7| & (B (B2YES 54,434 0
H | KEHE 90,891 J=2] 0
E | KEitEY 133,016 0
=3[(=)) YT E S 793,075 it 397,817
| LHRBE-KFE 0 o [(DZEEE B & [ EWm| & &2 ES
= IE AN 0 HEH
E | 8 |ZiK 2,100/6,300//10a X 200a X (E3H31,/6058) TERE-RLEE 1 25731 | EEEERTEEDE
R ([HEREF 0 " [BREH FEEH22~26T
5 EE ELB|EFAHEM BEH
& |REFHH EL5|EEAHEM i 25,731
ERAFE Y [((@DBREZ B & [ EWm| & &2 FES
ZDft 83,959| MERARAR. EER. AFR RELERHBEENEERH2~26FY FEE 1] 32.415] 32415 EEE EW B DT
(C) EEHE 879,134 237 (Jyh) 0| EEFEH22~26F 15
O & 104,584| (A) — (C) # [BE 30 %
QO & & 106[MD+A ES (Jybkib)
@ FREFEER 87.0 KT 38 (JykiL)
i (kwh)
32,415
HEER B & [ EmM|] £ & ES




4 {EER- SR {ERM (RES 18517-Y)

02938 RIER 2 xIsx

1 2 | 3 it
£ % Al f P F|lE[R[F|[E d[F[ E
B f 199734932
kel
fEwes
BRE 20]20]30[2020]20][20[20]30] 2. | | | | | | | I | | | 79.0
AT USAT SR 0.17 ] 0.17 [ 0.17 [ 1.00 | 1.00 | 1.00 0.17 1 017 0.17 [ 017 | 0.17 | 0.17 45
HHOINE 0.04 | 004 1 004 [ 004 [ 0.04 [ 0.04 [ 0.04 [ 0.04 | 0.04 0.3
AFRWCS 0.36 | 0.36 | 0.36 | 0.13 | 0.13 | 0.13 | 0.16 | 0.16 | 0.16 | 0.17 | 0.17 | 0.17 | 0.2 | 0.24 | 0.24 3.2
] Al & 2020 30[20 2020|2020 30| 22 22 22| 30 30 40| 24 24| 24| 21| 21| 31| 22 22| 32| 22| 22| 22| 24 24| 34| 22| 22| 22|20]20]30
A _E 7.0 6.0 7.0 6.5 10.0 7.1 7.4 7.5 6.6 8.3 6.6 7.0 87.0

i

gL D3

4]




Q29%FRIER 2 xIsx

5 [EXE &AL SRS i & B : e BB JUY—NN—=-ZIF T8 =5

o | Retmm | R | FEmR | RmRn | TR | ABlE (HRsn| SRoE

@i |@n | © @ | m || TP e | 972

AEE e 600 [m 21,600,000 [10/60[EE] 1.67 360,000 25 14,400

2 [EEIL=E B 180 [m 6,480,000 [10/60[EE] 1.67 108,000 25 4,320

M | BEREE AE 200 [m 4,600,000 |10/60[5E] 1.67 76,667 17 4,510

- [HEE AE 230 [m 5,520,000 |10/60[5E] 1.67 92,000 17 5,412

i SR - R NE (KE 200 [m 4,800,000 |10/60[5E] 1.67 80,000 17 4,706

R |IZ2LEDY/N—5—|6058RE 16,000,000 |10/60[EE] 1.67 266,667 17 15,686

H[FEKE avyl)—k 180 [m 5,832,000 [10/60[EE] 1.67 97,200 18 5,400
E

N E 64,832,000 1,080,533 54,434

NIV HY—F5— 3,000 [0 6,124,000 [10/60[ZE] 1.67 102,067 7 14,581

A Sk 45ps. 28ps 2 & 8,672,000 [10/60[EE] 1.67 144,533 7 20,648

W |Sxiodo4—45— 1|&8 5,724,000 [10/60[EE] 1.67 95,400 7 13,629

- [PRO—ILR—5— 1|&8 2,538,000 [10/60[EE] 1.67 42,300 7 6,043

8 [R—=)LFv/\— 1|& 1,404,000 [10/60[EE] 1.67 23,400 7 3,343

B |[rSvs 2t 1|&8 1,458,000 [10/60[EE] 1.67 24,300 5 4,860

TR ESE a8 8,336,000 |10/60[5E] 1.67 138,933 5 27,787

N E 34,256,000 570,933 90,891

EE 60 |58 31,400,000 [10/60[EE] 1.67 523,333 4 130,833

K |9E4 4 |58 524,000 [10/60[EE] 1.67 8,733 4 2,183
)
¥iE
)

N E 31,924,000 532,067 133,016

& it 131,012,000 2,183,533 278,341




